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(Plant Metabolism)
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nre figures in the margin indicate JuU marks
for the questions

(<i) Choose the correct answer : 1"3=3
m In chloroplast, light reaction occurs
" £ stroma / inner membrane /

cristae / thylakoid disc.

mi The number of ATPs produced
U  naDH + fro™ glycolysisSrouT malate-aspartate shuttle
^ dfctron transport system is
two / three / four / w .

«.-imarv effectors /
(m) Receptors are , ̂gands /

secondary messengers / s
signal transducers.

(Turn Over)
"tP/sse



( 2 )

('>) Pill in the blanks :

instead of a

^  group is

1x2=2

W Trigiycerides are h ̂  i a
by

rrotes on ' „
three of the

4x3=^12
following :

W AUosteric modulali^ .
CAM cycle

W Transamination

ft) MAPUte...^

(a) Glycolysis

-(b) Synthesis and ^
, , Of sucrose(c) Gluconeogeneais

(d) Mitochondrial electrons
"o transpprt system

' (^) Q cycle

24P/886

6x2=12

( 3 )

'4. What is dark reaction in photosjmthesis?
Describe the mechanism of dark reaction

in C3 plants. 2+10=12

Or

Dilferentiate between anabolism and

catabolism. Explain the pathways of
anabolism and catabolism. How can the

pathways be regulated? 2+8+2= 12

5. Describe schematically the pentose
phosphate pathway of glucose oxidation.
What is its significance? 9+3=12

Or

Define nitrogen fixation. Describe the
biological methods of nitrogen fixation. 2+10= 12
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